3. Sphers | -of masss ﬁmm I_:gjs;h'n:;j{lg at vy to the right. It collides with sphere ‘_’_T}‘ -
Jmass my = (L0250 Il:g,rtbhlcll is initially at rest. After the collision, sphere 1 has a speed m}ﬁff vf
m/'s n1m1; the mgln"ic/}' -axis and sphere 2 has a speed of vy ot an angle of 37.0° above the x-

axis. Find the initial spoed vy of the first mass and the final speed v, of the second mass.
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(b)) Describe/sketch the motion of the center of mass of this system of two objects before and
afer the collisian.
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